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Ax=1/d*A, rae Ax-wnpuHa nHTepd. Nonocsl, A-AnuHa BONHLI, d-paccTosHUe MEXAY UCToY., |-paccTosHue Ao skpaHa. Otset 1
oTseT 3: nonysonHbI
5

Ax=1/d*A; Ax1.0x2,1,2*A1=0,8*A2 => A2=1,1/0,8*A1=1,5* A1; A2=1,5 Oteer: 5.

2dn +M/2=k*);  2dn=3*A1-A1/2=2*A2-A2/2;  A2/A1=1,67

OTBET 2 NONYBONH, SOHbI.

A=2A(6ecKoreuHoCTb) =>10 NPUMeEpPHO-pasHo ;A(BecKoHeuHOCT)2=>1=4]0 ; 1/10=4

sekTop AC cooTeetceyer m=3/2; AB-m=1/2 => d1/d2=r1/r2=sqrt(3)=1,73
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N=2d/b;_b-wiupuHa ueny, d=paccrosiue mewmay; N=2+*6/3=4 OTKDINMCH CMEKTPLI-UEDHBIE 4,6,8 U ..

R=k*N; N=1/d => R=k*I/d=3*10(-2)/d; R=\/AA=5890/6=981,66 => d=3*10"(-2)/981,66=0,00305*10"(-2)=30,5Mkm OTseT: d=30,5 MKM
1=j0/2*cosn2fi*n; n=0.1; cosn2(1)=1; j/10=1/20|

=alfa*d => alfa=/d; T.k. NnacTMHKa saKpbIBaeT ceeT To Y=1/2; alfa=n/(2*4,5%10(-3))=0,34; Otser: 0,34

J=10/2%cos"2 60=10/2%1/4=10/8 =>1/10=1/8
he/A=Asbix+mvA2/2 & ypasHenue potosdderra; hc/Akp=Ast
3akoH Buta: A=b/T =>A1=b/TL; A2=b/T2; A1/A2=2 =>T2/T1=2
BbIX+mvA2/2: =>mvi2/2=

Axp=hc/Assix ; Orser: 1,3,4
>T1=T2/2; Tl=-273+(685+273)/2=479°C
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